EE 201 — HW 6.8 Name

In the circuit at right, the switch alternately closes and

opens, allowing the current in inductor to increase and i
decrease. The opened and closed times are long enough

that the inductor current will fully reach the maximum Ig (T) R, L l R,
and minimum values. (i.e. The times are much more than 10 A 125 Q 50 Q
5 times the corresponding time constants.) Do the

following calculations.

1.

Calculate L so that the inductor is storing 25 J when the maximum current is flowing.

Using L from above, find the expression for the “amping up” of the inductor after the switch closes.

iLup(t) =

Find the expression for the decrease of the inductor current after the switch opens.

iLdown(t) =

Calculate the amount of energy that is delivered by the source during the upward transient.

Calculate the amount of energy that is dissipated in resistors during the downward transient.

Write your answers — and whatever work will fit — on this sheet. Staple any sheets with additional work behind.



